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~ Progress Test Paper One
Part I Vocabulary (20 minutes)

Section A

Directions; Complete each of the following sentences with the proper form derived
from the word given in the bracket. Then, write it on the Answer
Sheet. |

1. Despite technical progress, food production is still largely on weather.

(depend)

2. I warn you that that strange old man will kill you if you dare to __ his
daughter again. ' '

(threat)

3. Now that you are 15 years old this year, you should have more sense of

' (.responsible)
4. The boss had declared that all the workers were ~ to $5 per hour.
C  (title)
5 Itisa ___ fact’'that he came through the accident safely. '
_ (marvel)
6. It was a very long meeting, but it wasn’ __of any important decision.
(produce)
7. Her _ for Christmas presents were $ 35 and several hours of work.
-+t (expend)
8. She expected, not , that her beloved parents would help her while she
was in such a difficult position.
' : (nature)
9. It was of him to be so rude to his family when he himself was in trou-
 ble. '
(type)
10. This shop can supply all your _____ though it is not very big.




(require)

Section B

Directions; Fill in the blanks with some of the words or expressions given below in

the box. Change the forms if necessary. Put your answer on the An-

swer sheet.

result from, in a sense, result in, in point,

in return for, come across, pull up, cut into,

settle for, pull through, by now, draw on

11.
12,

13.

14.
15.

16.
17.
18.
19.
20.

You are right, » but you don’t know all the facts of it.

The newly married couples have to the small room since it is better
than nothing.

I really don’t know what I can do __ your kindness if you do not want to
accept the money. '

Set your mind at ease. Qur quarrel will not divorce.

If you any difficulties in your English study, you should not lose
heart.

Your expert knowledge will be increasingly as negotiations proceed.
I hope you’ve understood ~ what I mean.

The decline of the neighborhood _____the value of Mr. Morton’s house.

It was this spirit that them the darkest moments of the war.

Such crimes are so grave that they ought to be met with greater penalties than

the law prescribes. The recent bank robbery is a case .

Section C
Directions; From the four choices given under each statement, choose the ONE

21.

that is closest in meaning to the underlined part. Mark your answer

by blackening the letter of your choice on the Answer Sheet.

1 have told you again and again that you have no business to give us those or-
ders.

A) enterprise



22.

23.

24,

25.

26.

27.

B) matter i
C) right

D) dealing

After years of research work, astronomers have determined the position of
that star.

A) realized

B) identified

C) understood

D) noticed

She assumed that he wouldn’t want to see her again after their quarrel.
A) supposed

B) resumed

C) ensured

D) pretended

The rain was heavy — and consequently the land was flooded.

A) consistently

B) subseguently

C) nevertheless

D) therefore

I never doubt that by working hard 1 ean accumulate & fortune.

A) dream of

B) realize

C) make

D) search for \

Having sat in the warm sunshine for a period of time, I felt drowsy.
A) puzzled

B) feared

C) vague

D) sleepy

Though he said that he was wronged, we have abundant proof of his guilt..
A) sure

B) sound

C) plentiful

D) ready




28. She gave a glass of beer to the man and a toy rabbit to the baby, respective-
ly.
A) respectfully
B) respectably
C) strangely
D) separately
29, He couldn’t join the police, because he was below the minimum height al-
lowed by the rules.
A) tallest possible
B) smallest possible
C) largest possible
D) greatest possible

30. Washing wool in hot water will make it shrink. °

A) become longer
B) become larger
C) become heavier

D) become smaller
Part I Structure (15 minutes)

Section A
Directions . Rewrite each of the following sentences on the Answer'Sheet in such a
way that the new sentence means the same as the one printed before

it, using the clues given in the brackets.

Example. 1 haven’t enjoyed myself so much for years.
(It’s years)

Answer . It’s years since 1 enjoyed myself so much.

31. There is nothing to do, so I have no strong reason not to go to bed.
{may as well)

32. The report was later found to be made up by someone on putpose.
(turn out)

33. In spite of his teacher’s advice, he never pays much attention to his lessons;



34.

35,

36,

37.

38.

39.

40.

therefore he failed in the examination.

(hence)

This dictionary will be very popular after it is printed.

(once)

So far as politics is concerned, 1 know nothing.

(come to)

Unfortunately 1 was denied the chance to visit Beijing together with them.
(As luck. .. )

She thought that he was a man without principles, so she never trusted him
with important tasks.

(regard as)

Qur teacher thinks that we should work harder if we want to get higher .
scores.

(of the opinion)

You will miss the train if you are not able to get to the railway station at
2:00.

(unless)

He finally succeeded because he worked hard.

(result from)

Section B

Directions: From the four choices given under each statement, choose the ONE

41.

42,

that best completes the sentence. Mark your answer by blackening the

letter of your choice on the Answer Sheet.

She has lots of books, that she is so young.
A) considered
B) to consider
C) considering
D) being considered
the principal contradiction is grasped, all problems will be readily
solved.
A) Until
B) All at once




43.

44.

45.

486,

47.

48.

C) Once

D) Once in a while

I would rather he  the film tomorrow than today.

A) will see

B) will be seeing

C) sees

D) saw

John was elected by a large majority, ______was what most people had ex-
pected.

A) what

B) which

C) that

D) who

They are not  of them qualified skilled workers, though they get equal
pay.

A) all

B) some

C) every

D) none

we had expected, the job was completed three houts before the dead-

line.
A) When ’
B) So
C) As
D) Like
Those of us whq are over fifty years old should get blood pressure
checked regularly.
A) their
B) its
C) his
D) our
a certain doubt among the students as to the necessity of the work.

A) It existed
B) There had



C) They had
D) There existed
49. Advertising is distinguished from other forms of communication the
advertiser pays for the message to be delivered.
A) in order that ’
B) in that
C) in which
D) such as
50. He took down a square green bottle, he poured into a dish.
A) which content
B) the content of that
C) its content
D) the content of which

Part I Reading Comprehension (35 minutes)

Directions. Each of the following passages is followed by some questions. For
each question there are four choices. Choose the best answer to each
of the guestions. Then, mark your answer by blackening the corre-

sponding letter on the Answer Sheet.

Questions b1 to 55 are based on the following passage,

Some people have malnutrition (% 3£ 7~ B ). Their diets have too much or too lit-
tle of some nutrients (7 3£ 4 ), or too many or too few calories. Nutritionists have
three major ways of deciding if a person has malnutrition: physical exams, laboratory
tests, and diet studies.

In the physical exam, the nutritionist looks for external signs of malnutrition. For
one thing, the nutritionist looks at the patient’s skin. Rough, dry skth, for example,
may mean that the patient does not have enough vitamin A. In addition, the nutrition-
ist looks at the patient’s mouth. Cracks at the corner of the mouth, a purplish or bright
red tongue, and bleeding gums can all be signs of vitamin deficiencies(# % ). The nu-
tritionist also notices the patient’s hair. If a patient does not have enough protein, the
hair may be thinner and duller than normal.

In laboratory tests, nutritionists look for the amounts of nutrients patients have in
7
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their bodies. There are two main types of laboratory tests; blood tests and_urine( ')
tests. A blood test can show, for example, if a patient has anemia (3} [Ml%E) from too
little iron in his or her diet. A urine test shows how much vitamin is absorbed by the
body and how much passes through the body because it is not needed. If the patient’s
body absorbs a great deal of the vitamins, the patient may have a vitamin deficiency.

There are three main ways nutritionists do diet studies. First, the nutritionist may
interview the patient and ask general questions about the patient’s diet. The nutritionist
might ask questions such as the following. What do you usually eat for breakfast? How
much coffee do you drink in a day? How often do you eat a raw vegetable salad? Sec-
ond, the nutritionist may ask the patient to recall everything she or he ate in the past 24
hours. This information represents the person’s usual diet. Finally, patients can keep
their own list of what they eat. Later the nutritionist looks at the list to see if the patient

ate too much or too little of any nutrient.

51. Which of the following statements most adequately sums up the main idea of
the whole passage?
A) Some people have malnutrition.
li)/l\lufritionists have three ways to decide whether a patient is suffering from
malnutrition, physical exams, laboratory tests and diet studies.
C) The diets which have too much or too little of some nutrients or too many
or too few calories will cause malnutrition.
D) Nutritionists can look for external signs of malnutrition.
52: The following are external signs of vitamin deficiencies except .
A) rough skin
B) & bright red tongue
'CX thin and dull hair
D) cracks at the corner of the mouth

53. A patient probably has a vitamin deficiency if a urine test shows that

\)({ a lot of vitamin is taken in by the body
B) a lot of vitamin passes through the body
C) the body does not absorb much vitamin
D) there is a lot of vitamin in the urine

54. Which of the following is not the way a nutritionist does diet studies



A) To ask the patient about his general diet.
B) To ask the patient to recall what he ate in the past 24 hours.
C) To look at the list the patient keeps of his daily diet.

\D) To ask the patient about his health.

55. Which of the following is closest in meaning to “For one thing” in the 2nd
paragraph?
Firstly.

B) For one reason.

. C) In one case.

D) Except one thing.

Questions 56 to 60 are based on the following passage :

In American Indian culture one of the surest indications of impending (Ei]!{%bj 3
.HY) disaster was the tribes decision that, inorder to survive, it was necessary to eat the
seed corn in the full knowledge that this doomed the crop of the following year.

We face a similar situation in U. S. education in mathematics, physical science,
and engineering. To remain competitive in the international marketplace, U. S. indus-
tries have recognized that they must attract the brightest, most dedicated young people
available, and beginning industrial salaries have risen rapidly to bring this about. Col-
leges and universities can no loniger compete, and there is a growing question about our
ability, in the 1980, to supply young peopie in these aréas for either industry or edu-
-gation,. . AR A s A :

. - 56, -In this passage, the brightest, most dedicated college graduates in mathemat-
ics, physical science, and engineering in the U. S. are compated to the (R
@(most competitive force in the international marketplace -

- B) cause of an impending disaster S
C) seed corn in American Indian culture
D) future:of American industry and sducation
57. In American Indian culture, the decision. to eat theseed corn was regarded as

L. H -t

A) fatal
B) hasty




.\(_;B’ necwsary‘
D) unalterable
58. The best college gréduatw in mathematics, physical science, and engineering
choose to work in industry because in industry '
A) their talent is respeoted
B) they get good salaries
‘C)’work is challenging
D) they are badly needed
59. The situation the U. S. is faced with in the 1980 is that in the three arcas
few qualified young people
A) prefer industry or education for their future career
B /are produced to meet the needs of either industry or education
C) are attracted by sither écucation or industry -
D) question the possibility. of theit employment in either industry or educatien
60. In the writer’s opinion, the best college graduaies should go .
- ‘A/) where compétition is most acute
B) where talent is highly valued
C) to industry ' '
‘D) to education . =

Questions 61 0 65 drebased on the following passage.

My parents took a boat from Italy to the New World at the turn of the century amd
started raising a family of eight in Brooklyn.

This happened when I wag about twelve. 1 remember the shabby little house we all
grew -up in.. But-it had an enviable. nice little plot with-‘a kitchen gatrden- bordered by
lilac (T F4E) bushes. A newly-built tenement (5 /A B]) back of us was populated
by folks who used te: throw their rubbish—old shoes and socks, for example— into eur
garden. My older brothers and I thought tiat these. people —they weren¥ called peal-.
luters then —should be told off. ’ : ’ :

Mother, wilo had never got'beyoad grammar school in the Old ‘Country, and whe
had never heard of “psyehology”, told us to go out and pick lilacs.. Then, she asked us
to give each of the dozen families in the back a bouquet (FE3 ), and say our mother .
thought they might enjoy them. ;

Somehow, a miracle happened. No more pollution.

10



61. What did the neighbors of the author’s family use to do?
A) They took flowers from the family’s garden.
\B) They used the family’s garden as a garbage dump.
C) They often went into the family’s garden. .
/)&)’They gave old things such as shoes and socks to the family,
62. The author and his brothets wanted to tell the neighbors off, but not his
mother, because
A she thought her English was not good enough
B) she lacked confidence in dealing with strangers
C) she was too good a psychologist
D) she saw no objection to what the neighbors did
63. What caused the neighbors to stop doing what they used to do?
A) They were told not to, do so..
B) They were told to take the things away.
C) They were invited to dinner with the family.
D) They were presented with flowers by. the family.
64. What was the most outstanding quality in the character of the author’s mother
as demonstrated in this particular incident?
M Wisdom.
B) Generosity.
C) Humbleness.
D) Cunning.
65. The best title for the story would be
A0 My Mother _
B) A Family of Eight
C) Fighting Pollution
D) Bouquet for Your Enemy

Questions 66 to 70 are based on the following passage.

Ever since a prisoner had escaped because a sentry (V§J%) had failen asleep while
on duty, special instrﬁctions had been issued by the prison-camp authorities. The sentry
in the watchtower had been ordered to give the alarm the moment anything even slight-

ly suspicious occurred.
' 11




On the night following this escape, the sentry guided the powerful searchlight
across the grounds of the prison-camp. He was q'uité sufe that no second att'embt would
be made. He looked down from the watch-tower Wearily as the light lit up huge patches
of deserted ground. The prisoners were all &siéep, ‘Suddénly, the sentry jerked the lamp
round and directed it on a small cluster of bushes. ‘He was sute he’had heard leaves
rustling (3E3EM) and there was no wind at all’ that ‘night.' The bushes were quite still
and after a time the light of the lamip drifted across tb the'buildings. '

The lamp continued its unchanging path up and down the tamp. But when the
sentry tried to focus the light on ‘the bushes again;, he found that they were no longer
there] All he could see was dry, ‘bare ground.”He swhihg the lamip violently from side
to side and then held it still as soon as he saw ds moré bushes. For fifteen minytes noth-
ing happened; the sehtxy kept watch the whole time: Theh a $mall tre¢ seemed to fall
sideways and he heard twigs (/INB) snapgping 'in' the darkness. He immediately raised
the alarm and saw four figures move suddeniy antd quickly intts' the shadows. Lights
went on all along the enclosure. ' The “senitry just ‘datight a glimpse of two figures
crouched (B§) against the wire fence'an two Sthers tunming in opposite directions. He
then saw five guards rushing towards-the ‘prisoners; “They were' shdi.ltlng‘ Joudly and
from whiére he was, he heard the ctack'of a mstoi’s‘rmt. ot ady ow e v

66. What first made the sentry suspicious was .

A) the cluster of bushes ST

B) the disappearance of the cluster of bushes s
AG the sound of leaves rustling

D) the sight of a small tree fatfing siéways” ~

67. They had ordered the sentry to give the alarm the morﬁéﬂt ____.

‘»‘ i . [

A) the prisoners looked suspicious
B/ he found anything suspicious W
C) someone fell asleep while on duty ™"
D) he was ordered to

68. “Huge patches of desettod ground” mean§

T Lo . Ky
e T kR

" A) large deserts st e
B pieces of farm land -
C) places where nothing grew -
D) large areas of empty land _
12 _ .




69. The sentry did not sound the alarm until .
&) he was sure he had heard l¢aves rustling
B) he found the small clump of bushes had disappeared into thin air
C) he saw some more bushes '
- D) he heard the sound of small branches breaking off as a bush fell
70. From where he stood the sentry heard I
A) the guards firing away at r.he_ escaping prisoners
~JBY the prisonets shooting back at the pursuing guards
C) a bullet from a pistol hit one of the prisoners

D) someone shooting once

Part V Cloze (10 minutes)

Directions. Read the following passages and fill in each of the nunibered blanks

with one suitable word on the Answer Sheet.

A
The motion picture, one of the most popular forms of entertainment throughout
the world, is 71 an art and an industry; it is a means of expression anda 72

of making money. Thisis 73 the making of a commetcial motion picture requires

a collaboration between people 74  interests often conflict. Perhaps it is this ten-
sion, this uneasy 75  exciting union between art and business, which makes the
movies so dynamic and alsc so inconsistent in content and quality. One film may of-
fend us 76 it seems to use contemporary issues or new technological devices simply
to get people to buy tickets. 77  film, 78 , may move us deeply or make us

aware of the artistic use of cinematic techniques.

(B)

American architecture is 79  its best when it is concerned with buildings SQ

__have a practical purpose. Factories, office buildings, public buildings, rail termi-
nals, and other such 81 show American architecture at its most imaginative and a '
graceful, as 82  as at its most useful. The singie most important American archi-
tectural design is the skyscraper, a style 83 in the late nineteenth century and .

84  known as the trademark of Ametican building the world 85 .
13




